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Sample Final Exam

You have 2 hours to complete this exam.  There are 2 short answer questions, and eight true, false, explain questions.  Write your answers on the pages provided.  Show your work for all your calculations.  Each part of each question is worth 5 points.
1.  Gephardt Calls for Repealing Bush's Tax Cut to Finance Health Insurance 
By Nedra Pickler, ASSOCIATED PRESS, April 23, 2003

NEW YORK – Democratic presidential candidate Dick Gephardt, determined to break out of the pack of White House hopefuls, on Wednesday presented a stark choice for voters if nominated by his party: a continuation of President Bush's tax cuts or his plan to give nearly all Americans access to health care.  The Missouri congressman would repeal all of Bush's tax cuts and use the money to help businesses insure their employees. Gephardt said his plan would provide health care to most of the 41 million uninsured Americans. 

"This is the right way to stimulate the economy – not knee-jerk tax cuts that do nothing but pay off George Bush's wealthy contributors while killing economic growth," Gephardt said in a speech to the Service Employees International Union, which represents 1.5 million health care workers. He estimated the total cost at $214 billion in 2005, $231 billion in 2006 and $247 billion in 2007. 

Under the Gephardt plan, companies that currently offer insurance would get a refundable tax credit worth 60 percent of their share of the costs, while companies without health benefits would get a credit for 60 percent of the total premium.  To pay for the plan, Gephardt said he would repeal all the tax cut that passed two years ago and any others that Bush signs into law. The 2001 law cut income tax rates, provided tax relief for married couples, increased the child credit and reduced the inheritance tax. Gephardt said he may reintroduce smaller provisions for tax relief for married couples, the child credit and the inheritance portion after his plan became law. 

Republicans and business groups criticized the plan as too expensive and said voters will not support government-funded health care. Former Rep. Vin Weber, R-Minn., called it "a disastrous thing for him politically."  "It's a great irony," Weber said. "All this has proven in the past is to be a real loser for Democrats."   Dan Danner, senior vice president of the National Federation of Independent Businesses, said some small businesses can't afford to provide health care.  "Imposing one of the largest tax hikes in American history, which is exactly what Dick Gephardt proposed today, certainly won't help small-business owners find more affordable health insurance," he said. 

Gephardt says his plan is different from the Clinton-era proposals because most Americans would still be insured through their employer plans, not the government. And it would give a tax break to businesses that currently provide coverage as well as supporting those that don't.  "I believe to make a win for this campaign, we have to lay out a clear choice for the American people – do you want a continuation of the failed Bush tax cuts and economic plan or do you want to move to give universal health care for everybody in the country and stimulate the economy better than is being run today?" he said. 

Under Gephardt's plan, workers still would have to pay their portion of premiums to help cover health care costs, but companies that increased employee contributions would not qualify for the tax credit. Gephardt would subsidize up to a quarter of the employee contribution for workers below or near the poverty line.  Currently, employers can get tax deductions that cover about 30 percent of their health care costs. Gephardt said by doubling the government's share of the cost, companies would have more money to invest and could increase wages, providing a jump-start to the economy. 

The tax credit would cover health care costs of part-time employees, retirees and the self-employed. It also would refund 60 percent of health care costs paid by state and local governments.   Gephardt also wants to subsidize two-thirds of the cost of COBRA health insurance for unemployed workers and expand the State Children's Health Insurance Program for uninsured low income children to their parents. And he wants to allow people aged 55 to 64 to buy into Medicare coverage. 

In an interview with reporters after the speech, Gephardt conceded that his plan would not eliminate budget deficits that have grown in recent years.  "The goal is to get the economy to grow, the goal is not just to balance the budget," he said. "Look, if the economy is working well, the budget will be in balance." Gephardt called access to health care the "moral issue of our time" and challenged Bush and his Democratic rivals to come up with their own plans. Gephardt is the first to detail his proposal; others in the nine-way Democratic primary race plan to unveil their ideas in coming weeks.  Former Vermont Gov. Howard Dean, another presidential candidate who has called for a repeal of the tax cuts to pay for health care, said Gephardt's plan would never survive in Congress. "It's much too expensive and much too complicated," said Dean, a physician who said his proposal will cost less than half. 
a. Draw a graph of the market for uninsured workers—workers who take jobs that do not offer health insurance.  What will Gephardt’s policy do to the demand for labor, if these employers begin to offer health insurance?  Illustrate this on your graph.  Thinking about “tax incidence” and the market for labor, who will bear the burden of the portion (40%) of the premium that is not subsidized by the government?  How will this adjustment occur?  

b. How could Gephardt’s health insurance plan affect the market for health insurance and health care?  Explain why health insurance premiums could rise, and why health insurance premiums could fall.
c. Total health care spending in the United States was $1.4 trillion in 2001.  Public expenditures paid for 45% of this.  The remaining $770 billion was private spending.  Gephardt’s plan effectively proposes that the government will subsidize 60% of this private spending.  That is $462 billion dollars a year.  This is much more than the estimate that Gephardt’s team has given.  Health care costs have been rising 8% a year in recent years.  Is Gephardt’s estimate realistic?  How will total health expenditures change if this policy is implemented?  Why?
d. Gephardt proposes that his plan would give a real economic stimulus to our slow economy.  Others have said that Bush’s tax cut would be a drag on the economy because it will increase the national debt.  Compare and contrast the economic stimulus created by these two policy changes in the context of the national debt.
2. The House of Representatives recently passed a $550 billion tax cut.  This cut includes a reduction in taxes on dividends and an increase in the refundable child tax credit from $600 to $1000 per child.  Consider the effect of this credit on a worker who is married and has 2 children.  The worker pays taxes of 10% on the first $12,000 of earnings, 15% on earnings from $12,000 to $46,700, and 27% on earnings above $46,700.  
a. Draw an after tax budget constraint for this worker who earns $25 an hour, and can work up to 4000 hours a year.  Label the endpoints and kink points of your budget constraint.

b. Now illustrate the change in the budget constraint caused by the increase in the refundable child tax credit.  

c. Will the tax cut cause workers to increase or decrease hours of labor?  Describe income and substitution effects caused by the change in the tax credit.

True, False, Explain.  For each statement, answer whether the statement is true or false, and then explain why it is true or false.  Credit is given primarily for your explanation.  Two or three sentences should be sufficient to answer each of the questions.

1. A tax on earnings is equivalent to a lump sum tax, so taxes on earnings create no excess burden.  True or false?  Explain.

2. Lindahl Prices are tax rates that cause just over half of the population to vote for a certain level of public goods.  True or false?  Explain. 

3. The present value of $100 received one year from now is equal to 
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 if the interest rate is 5%.  True or false?  Explain.

4. Society should try to set optimal taxes that minimize excess burden by taxing inelastic goods more heavily than elastic goods.  True or false?  Explain.

5. A tax on capital in the corporate sector will cause an increase in the return to labor and a decrease in the return to capital if the corporate sector is labor intensive.   True or false?  Explain.

6. When there are positive externalities from the consumption of a good, society should subsidize consumption to improve efficiency.  True or false?  Explain.

7. Welfare reform has not reduced welfare caseloads because the program does not offer sufficient support services to facilitate the transition from welfare to work.  True or false?  Explain.

8. Social security transfers dollars from young workers to retired people.  This program is fair to all generations, because someday the young workers will retire, and they will receive their benefits from a future generation of young workers.  True or false?  Explain.
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